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PROBABILITY
P(A or B) = P(A) + P(B) — P(A and B)
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BINOMIAL DISTRIBUTION
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GAUSSIAN DISTRIBUTION

Given X~N(u, 6°), can be standardised in Z~N(0,1) by:
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SAMPLE SIZE
...needed to get a confidence interval (1-a) of a proportion with length 2E
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...needed to compare two means
20-2
n — Z(Za/z + Z,B) p



TEST t

one sample
{Ho3ﬂ=ﬂo t X—MU, X-— M IO T4 s
. n-1 " — X T n—-la/2 [
H oty # ES(X) S/\/; ! /2\/;
two samples
{H TRt
H iy # |,
Assuming equal variances Not assuming equal variances
X —F Y —¥ X1 — Xz
t . .= i B B i EMIN(ny-1,n,-1) =
o ES(x —X,) > 1+ 1 i_l_ﬁ
S R -
p nl n2 nq no,
2 2
_si(m =D+s,(n, —1)
where §, = 5 2 g2
L IC1-ot (% — %) H tapays |-+
n, np

1 1
IC: (fl _f2) T tn1+n22,a/2\/S127 |: +:|



|

{Hoznzno
H :m#m,

Hy:m =m,

H, :m, #m,

TEST on PROPORTION
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